20224 11 H 29 H

[ oFIv—T vy b - THA ] ERFE

F2E

p.89, W& DT

GR) AT o (x)

(IE) LT oM (x) XTHHEoilciliE

p.94,1.4
(GH) RIAL 7203k
(IF) AL 72203t

E3IE
p.112, T75 917H
(G2) b(0), F(0)=0X Y
(IE) F(0)=0X Y ¥b(0)% Ik

p.112, T4 5 7 {7H
(%) oz 1cEHl - T
(IF) F 2 EE 3HEZvYICEH - T

p.128,1.14

@) Yigy=1 j=12...m

(IE> ngij:]v i=12,...,n

FLE
p.148,1.2
GR) L 7= A% iR fE o AEr

(IE) ZML 7= N4 o X [oAaF] %2 H Ik

p.151,1.4 & 1.10
(BR) 2t DMERE A3/ X W5
(IF) Mo 75 LNERL 23 En T



p.186, T4 5 1317H
() print(' s{0}'
(1E) print(' c{0}'

p.-186, BEBEOTT
() print(’ c{0}'
(1E) print(' s{0}'

p.187, T4 5 917H
GH) # IREoEEPMT > l, £5THRITFNITO
(IF) # T CICifEE=EICE Y BT o Tw B A

p.187, T2 b 4 fiH
(F2) step = [0]*S
(1E) step = [0]*(S+1)

p.187,13
(3%) temp = c_pref[j][k]
(1IE) temp = c_order[j][k]

p.194, & FAT
(3%) temp = c_pref[j][k]
(1E) temp = c_order[j][k]

p.195,18
(%) s_filled[i]=1
(1E) s_filled[i]=1
if position[rejected]==C:
s_matched[rejected] = -1
s_filled[rejected] = 1

num_match +=1

p.190, 1.6
(3%) s1s2s3
(IE) clc2c3



p.190,1.10
(%) clc2c3
(1IE) s1s2s3

p.192, T2 5 1017H
() print(' s{0}'
(1E) print(' c{0}'

p.193,13
(1) print(' c{0}'
(1E) print(' s{0}'

p.193, T4 5 71TH
() # IREoTE T sTwiUE 1, 25 TARITNIZ0
(IF) # T CICifEEICE Y B TonTw B A

p.196,1.2
(%) s1s2s3
(IE) clc2c3

p.196, 1.6
(%) clc2c3
(1IE) s1s2s3



